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Preblem 12 Desion @ cifcvit +o convert @ number
reFreaan_'Ffd e Exéess =3 code +0 BCD. You mwst use
kiq_mujfn. meps W this problem. Provide o civeui+

diagqramn as well.

Problew, 2° Design @ combinational logic civevit wit,
three inputs 4B C and threeoutputs TX, (; Z. whfer
\ oviTpuY

The bln.a_g \aputy are 0,1, 2 0r 3,the bina
s two areater than the binary input. When the
2 less thaun the inpu+. You wwst  yse o_rrutuﬁh.

WBPS (v Hai blewm.
Probiem 25 A BoT) adier CFA) {6 @ circuit that adds

three binary digils X, Y, G, Pro&uciv? & sum and
. I.F ong o

QL ca S a Cer - The 5um S is : F
+hr'€ew§é 2 Yy G ave 4. The Cervy Cout 15 1, "ﬁ

two out ué}(ﬂr’ee or all three of X,°%,Cn ave L
Pesian o ?u{l @dder circuit usivng AND; 0R gnd NOT
gates ) (1 want an avp—oR veedization). Show cll
;:w work, U th fuble; karnaugh maps, logic egue-
lons qncl)la \c diq_grqmb.CHeée oK fgWLEJ Some-
'H'HL wew +het | was 801'1.1 o do 1n :{qss.ff)
Yro (€m 4 Arelf adderC h) is q circuit +hql
©dds two binary digits X, Y, prodvcing a suwm and
4 g Sand G . The um S is 1 7€ ¢ne of
XerYare L. The carvy Cous is 1 £ both X aud
Yare 1. ng,{an_ a L:;?ﬁ adder circuit usin AWVD,

OR and NCTrSu_i—esj (| want gn AVD-OR veelize tion),
Show all yourwer ) trote table, Kqmavgh maps)
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PrthWLT: Usin ey M.Q,F,E) ,{Z;VLCJ G é;’mP[,;ﬂ;ﬂ
gam—uﬁ products expression for each of the “fol-

bowing |ogic .gunc-“ﬂnb:
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LA\ 0n °f pro levn T agbpue, Cow (e Ujs heve.
Problem 9. Usmj_leqmw bomape, D ¢ [i@ied
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Problem 102 Usi ltarthgh maps) 'Fffic{ﬁ_.ﬁflwr!f.'.ﬁfc{
Pa_uc{—-of-’—-,SUms E?f'fﬁss'fon, for each Ioglc Eonc tion
o8 problem 9 qlove.
b lem LL: Derive & siwpl !'{?;'E_J _praduc{-—ﬂf?hwms expr
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Note : Bajoy this homework. Ifis fobs of fon!l
1+1s about liqﬁmugk maps mainly,which 15 the
Mogt iWLFDT{'Qn+ ULJEC.'F v FE 2720. So ey oy Al
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